Aufgaben Potenzen
1. Vereinfache die Terme.
a) (x+ 1)y (x+1) b) (x-2) - (x-2) - (x-2) c) (x+3)*+ (x*+6x+9)

d) (x—4) - xX-8x+16  e) (x—2)(x—2)- (x+2) f) (x+4) - (x+4)

2. Vereinfache die Terme.

X7 y25 X2y4 ZSX6y9
a) - b) T c) 2 d) 5 2 4
X y Xy y'x'z
(x+2)4 (X—l)3 o) ()(—2)2 . ()(—2)2 h (X+3)2
X +4x+4 X —2x+1 (x—2)2 X +6x+9
3. Vereinfache die Terme so weit wie moglich.
a)(x+1)P2-(x+2)P by(x-3)7> (x—1)> ¢)(x+3)P - (x-3) d)(a+b)*-(a—b)

) (4-x) - (x—4) (2a+3b)y-(2a+3by g 2x+y)’ (y-2x) h)(x+5y) (x-5y)

4. Vereinfache die Terme so weit wie moglich.

a) X3y4>3 b) (XS 5 6)5 C) (XS 5 6)3 d) (a4bzc4)72
2\3 2.4 3\5 7.5 2\3 2 2\-2

(xy) (x*y*7) (x'y’z’) (ab’c’)

e) (25X4y4212)5 f) (144b7csa9)8 g) (99y11215X12)2 h) (XS 5 6)3
(5X3y3210>5 (12C3bxc4)8 (1128X9y7)2 (yS 6 5)3

5. Vereinfache die Terme.

a) (X2y3)2 . (X3y4)3 b) (3X4y22)3 . (4X2y4z3)2 C) (9a5b7)3 . (8a4b5)5

d) (15X2y825)1 . (7X6y6z4)1 e) (5a4b5C3)0 . (3a5b2c3)0 D (12X4y5Z8)8 . (15X10y9zll



